Group - 021DGV

42RLE; 4-Speed; Automatic Transmission

021DGV-100
Automatic Transmission /
Transaxle and Torque Converter

021DGV-1100
Gearshift Controls and Related
Parts

021DGV-1200

Mounting and Skid Plate

021DGV-200
Case, Extension, Oil Pan, and
Indicator (Dipstick)

021DGV-400
Oil Pump

021DGV-500
Clutches

021DGV-600
Gear Train

021DGV-800
Valve Body, Accumulator,
Solenoid and Parking Sprag

Group - 021DGV 42RLE; 4-Speed; Automatic Transmission

lllustration Title

Automatic Transmission / Transaxle and Torque Converter

Transmission / Transaxle ASSEMDIY . ... ... oo ettt Fig.
JL e [U =T 07 0] 1Y/ =T 4 (=T Fig.

Case, Extension, Oil Pan, and Indicator (Dipstick)

Group-Fig. No.

021DGV - 105
021DGV - 110

= Fig. 021DGV - 205
X E= (T A Fig. 021DGV - 221
EXEENSION 2WVD ..ottt e e Fig. 021DGV - 222
Oil Fill Tube And Related Parts . .......cooi ettt ettt e et e e et e e e e e Fig. 021DGV - 225
Oil Pan, Cover ANd Related Parts . ........oouiiiii e e e e e e e e e e e Fig. 021DGV - 230
LT Fig. 021DGV - 235
Sensors, Vents And QUICK CONNECIOS . ... ..ottt ittt ettt et e ettt et e et et e ettt et iiaeaes Fig. 021DGV - 240
Oil Pump

Oil Pump and Related Parts. ... ..o ettt ettt Fig. 021DGV - 405
Clutches

INPUE ClUIC ASSEMIDIY .ottt ettt ettt ettt et Fig. 021DGV - 514
INPUL ClULC AS S MDY . . . e ittt ettt ettt ettt Fig. 021DGV - 515
INPUE ClULCN A S MIDIY . ettt ettt ettt ettt e Fig. 021DGV - 516
INPUE ClUIC A S MIDIY .ottt Fig. 021DGV - 517
INPUE ClUICN AS S MIDIY . ettt ettt ettt et Fig. 021DGV - 518
2 1 ] o7 o Fig. 021DGV - 519
LOW / REVEISE CIUICN ..o ettt e ettt et et ettt e e e e Fig. 021DGV - 520
Gear Train

FrONt / REar Planetary .. ... oottt Fig. 021DGV - 608
Valve Body, Accumulator, Solenoid and Parking Sprag

Valve Body And Related Parts ... ... et Fig. 021DGV - 805
Accumulator And Related Parts. . ... oo e Fig. 021DGV - 850
Parking Sprag And Related Parts. ... e Fig. 021DGV - 860
Gearshift Controls and Related Parts

Gearshift CONMIOIS . . ... .. ettt ettt ettt Fig. 021DGV - 1105
Gearshift Lever, Cable and BraCKet. . . ... ... Fig. 021DGV - 1115
Mounting and Skid Plate

SHTUCTURAL COlIar . . ettt et ettt et e Fig. 021DGV - 1210
1Yo T8 g ¥ T =T | £ Fig. 021DGV - 1215

2008 JK



Transmission / Transaxle Assembly
Figure 021DGV-105

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 TRANSMISSION PACKAGE, With
Torque Converter
68037048AA 1 J, U EGO DGV With [PK # 68036706AA]
68037051AA 1 T EGO DGV With [PK # 68036705AA]
2 CONVERTER PACKAGE, Torque
05093944AB 1 T EGO DGV
J, U EGO DGV
3 06504383 4 J, T, U EGO DGO BOLT, Hex Head Lock,
M10X1.50X13.20
°2 0
N ©
a
w
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Torque Converter
Figure 021DGV-110

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 CONVERTER PACKAGE, Torque
05093944AB 1 T EGO DGV
1 J, U EGO DGV
2 SEAL, Torque Converter Hub
05222629 1 J, U EGO DGV
1 T EGO DGV
3 BOLT, Hex Head Lock,
M10X1.50X13.20
06504383 J, U EGO DGV
4 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Case

Figure 021DGV-205

<< RETURN TO GROUP INDEX

ITEM NSQEER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 CASE, Transmission
68003762AA 1 J, U EGO DGV
1 T EGO DGV
2 PLUG, Transmission Case
04567312 1 J, U EGO DGV
1 T EGO DGV
3 SPRING, Accumulator
04800310AA 1 T EGO DGV
1 J, U EGO DGV
4 SEAL, Accumulator
04446544 T EGO DGV
o) J, U EGO DGV
5 PISTON, Accumulator
04446620 1 J, U EGO DGV
1 T EGO DGV
6 COVER, Accumulator
04431617AB 1 J, U EGO DGV
1 T EGO DGV
7 SNAP RING
06501695 1 J, U EGO DGV
1 T EGO DGV
8 DOWEL, M6x16
06100994 1 J, U EGO DGV
1 T EGO DGV
9 BUSHING, Dowel
04531412 1 J, U EGO DGV
1 T EGO DGV
10 PLUG, Pressure Check
06036053AA J, U EGO DGV
T EGO DGV
11 BALL, Transmission Oil Pump
00152127 1 J, U EGO DGV
1 T EGO DGV
12 BEARING CUP, Output Shaft
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T = JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Case
Figure 021DGV-205

<< RETURN TO GROUP INDEX

ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
04412234 1 J, U EGO DGV
1 T EGO DGV
13 BEARING CUP, Differential
04567022 1 J, U EGO DGV
1 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part

2008 JK




Adapter 4WD
Figure 021DGV-221

!

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 52852986AB 1 J, U EGO DGV ADAPTER, Transfer Case
2 52852998AA 1 J, U EGO DGV SEAL, Transmission
3 52854177AA 1 J, U EGO DGV TUBE
4 04269956AB 1 J, U EGO DGV SEAL, Adapter
5 52852915AA 1 J, U EGO DGV SHAFT, Intermediate
6 52852916AA 1 J, U EGO DGV CLIP
7 06504774 7 J, U EGO DGV SCREW AND WASHER, Hex
Head, M10x1.5x37
8 06508111AA 4 J, U EGO DGV SCREW AND WASHER, Hex
Head, M10x1.5x37
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans

DGQ = 5-Spd Automatic 545RFE
Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Extension 2WD

Figure 021DGV-222

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 04800385AA 1 T EGO DGV OUTPUT SHAFT, Transmission
Extension

2 04800270AA 1 T EGO DGV SNAP RING, Output Shaft

3 52852994AB 1 T EGO DGV EXTENSION, Transmission

4 52852998AA 1 T EGO DGV SEAL, Transmission

5 52852999AA 1 T EGO DGV TUBE, Oil Feed

6 04800271AA 1 T EGO DGV WASHER

7 52108207AA 1 T EGO DGV BEARING, Ball

8 04800294AA 1 T EGO DGV SNAP RING, Extension Housing

9 52108428AA 1 T EGO DGV SEAL, Transmission

10 52108626AA 1 T EGO DGV SLINGER, Front Yoke

11 04800384AA 1 T EGO DGV FLANGE, Drive Shaft

12 52108234AA 1 T EGO DGV NUT

13 SCREW AND WASHER, Hex

Head, M10x1.5x37
06508111AA T EGO DGV
06504774 7 T EGO DGV

WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T = JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans

DGQ = 5-Spd Automatic 545RFE
Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Oil Fill Tube And Related Parts
Figure 021DGV-225

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 53013560AC 1 J, T,U EGO DGO INDICATOR, Transmission Fluid
Level
53032937AD 1 J, T, U EGO DGO TUBE, Transmission Qil Filler
GROMMET
04810021AB 1 J, U EGO DGV
1 T EGO DGV
4 06104005AA 1 J, T, U BOLT, 6 Lobe External Head,
M6X1.00X16.00
o
@/9
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX




Oil Pan, Cover And Related Parts
Figure 021DGV-230

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 PAN, Transmission Oil
52852912AC 1 J, U EGO DGV
1 T EGO DGV
I 2 MAGNET, Transmission
04446728 1 T EGO DGV
1 J, U EGO DGV
3 BOLT, Hex Head, M8x1.25x16
0]
06501474 12 J, U EGO DGV
12 T EGO DGV
o - 9
L ®
-
© g
2 I
]
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX




Filters
Figure 021DGV-235

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 FILTER, Transmission Oil
52852913AB 1 J, U EGO DGV
) 1 T EGO DGV
(] 2 O RING, Trans Qil Filter
06032780 1 J, U EGO DGV
1 T EGO DGV
o] 3 PAN, Transmission Oil
52852912AC 1 J, U EGO DGV
0 1 T EGO DGV
A ] _ 4 BOLT, Hex Head, M8x1.25x16
(ro 06501474 12 J, U EGO DGV
o 12 T EGO DGV
5 SCREW AND WASHER, Pan
Head, M5x.8x25
0 06500215 J, U EGO DGV
T EGO DGV
O 6 MAGNET, Transmission
04446728 1 J, U EGO DGV
: 1 T EGO DGV
3
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P =PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX




Sensors, Vents And Quick Connectors
Figure 021DGV-240

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 SENSOR, Transmission Output
Speed
52854001AA 1 J, U EGO DGV
1 T EGO DGV
2 SENSOR, Transmission Input
Speed
04799061AB 1 J, U EGO DGV
1 T EGO DGV
3 O RING
04799062 1 J, U EGO DGV
1 T EGO DGV
4 CONNECTOR, Qil Cooler Hose
04531202 1 J, U EGO DGV
1 T EGO DGV
5 FITTING, Quick Connect
52119547AA 2 J, U EGO DGV
2 T EGO DGV
6 53032979AE 1 J, T,U DGV VENT, Transmission
05161547AA 2 J, T,U DGV CLIP, Mounting
8 BOLT, M6x1.00x20
06508112AA 2 J, U EGO DGV
2 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T = JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans

DGQ = 5-Spd Automatic 545RFE
Transmission

AR = use ase required - = Non illustrrated part 2008 JK

<< RETURN TO GROUP INDEX



Oil Pump and Related Parts
Figure 021DGV-405

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 PUMP, Transmission Oil
05127199AA 1 J, U EGO DGV
1 T EGO DGV
2 SCREW AND WASHER, Hex
Flange Head, M8x1.25x25
06506408AA 5 J, U EGO DGV
T EGO DGV
3 SEAL, Impeller
04412475 1 T EGO DGV
1 J, U EGO DGV
4 SEAL, Oil Pump
04659945 1 J, U EGO DGV
1 T EGO DGV
5 GASKET, Transmission Oil Pump
04659126 1 J, U EGO DGV
1 T EGO DGV
6 BALL, Check
00147482 J, U EGO DGV
T EGO DGV
7 DOWEL PIN
06100902 1 J, U EGO DGV
1 T EGO DGV
8 BALL, Transmission Oil Pump
00152127 J, U EGO DGV Inside Oil Pump Housing
T EGO DGV Inside Oil Pump Housing
1" J, U EGO DGV Inside The Reaction Shaft
Support
11 T EGO DGV Inside The Reaction Shaft
Support
9 BUSHING, Front Pump
04659515 1 J, U EGO DGV
1 T EGO DGV
10 SEAL, Ring, Reaction Support
04471874 J, U EGO DGV
4 T EGO DGV
1 BOLT, Hex Head, M8x1.25x19
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Oil Pump and Related Parts
Figure 021DGV-405

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
06500211 J, U EGO DGV
T EGO DGV
12 SEAL AND GASKET PACKAGE,
Transmission Oil Pump
04883260AC 1 T EGO DGV
1 J, U EGO DGV
13 SEAL, Input Shaft
04446543 J, U EGO DGV
T EGO DGV
] @ 14 VALVE, Cooler Bypass
04659946AB 1 T EGO DGV
1 J, U EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Input Clutch Assembly
Figure 021DGV-514

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 SNAP RING, Reverse Clutch
04377195 1 J, U EGO DGV [1.53-1.58 mm]
1 T EGO DGV [1.53-1.58 mm]
04412871 1 J, U EGO DGV [1.77-1.83 mm]
1 T EGO DGV [1.77-1.83 mm]
04412872 1 J, U EGO DGV [2.02-2.07 mm]
1 T EGO DGV [2.02-2.07 mm]
04412873 1 J, U EGO DGV [2.27-2.32 mm]
1 T EGO DGV [2.27-2.32 mm]
2 PLATE, Transmission Clutch
Reaction
04377194 1 J, U EGO DGV
1 T EGO DGV
3 FRICTION DISC, Trans input
clutch, Reverse/underdrive
04659635 J, U EGO DGV
T EGO DGV
4 PLATE, Transmission O/Drive
Clutch
04659053 1 J, U EGO DGV
1 T EGO DGV
5 1 CLUTCH ASSY, (NOT SERVICED)
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Input Clutch Assembly
Figure 021DGV-515

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 SNAP RING
04505622 1 J, U EGO DGV
1 T EGO DGV
2 PLATE, Transmission O/Drive
Clutch
04531556AD 1 J, U EGO DGV
1 T EGO DGV
3 SNAP RING
04505621 1 J, U EGO DGV
1 T EGO DGV
4 PLATE, Transmission O/Drive
Clutch
04659053 4 J, U EGO DGV
4 T EGO DGV
5 DISC, Overdrive clutch
04531678AB J, U EGO DGV
4 T EGO DGV
6 4 CLUTCH ASSY, (NOT SERVICED)
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P =PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Input Clutch Assembly
Figure 021DGV-516

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 SNAP RING, Underdrive Clutch,
Tapered
04659934 1 T EGO DGV
1 J, U EGO DGV
2 PLATE PACKAGE, UNDERDRIVE
REACTION
04883013AB 1 J, U EGO DGV [5.72/5.82]
1 T EGO DGV [5.72/5.82]
04883014AB 1 J, U EGO DGV [6.21/6.31]
1 T EGO DGV [6.21/6.31]
04883015AB 1 J, U EGO DGV [6.70/6.80]
1 T EGO DGV [6.70/6.80]
3 FRICTION DISC, Trans input
clutch, Reverse/underdrive
04659635 4 J, U EGO DGV
4 T EGO DGV
4 SNAP RING, Underdrive Clutch,
Flat
04659980 1 J, U EGO DGV
1 T EGO DGV
5 PLATE, Transmission O/Drive
Clutch
04659053 4 J, U EGO DGV
T EGO DGV
6 4 CLUTCH ASSY, (NOT SERVICED)
WRANGLER (JK)
SERIES BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans

DGQ = 5-Spd Automatic 545RFE
Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Input Clutch Assembly
Figure 021DGV-517

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 HUB AND SHAFT, Overdrive
Clutch
04659993 1 J, U EGO DGV
1 T EGO DGV
2 PLATE AND WASHER PACKAGE,
Thrust
05018923AA 1 J, U EGO DGV
1 T EGO DGV
3 HUB AND SHAFT PACKAGE,
Underdrive Clutch
04864936AC 1 J, U EGO DGV
1 T EGO DGV
4 THRUST BEARING
04800082AA 1 J, U EGO DGV
1 T EGO DGV
5 SNAP RING
06501715 1 J, U EGO DGV
1 T EGO DGV
6 RETAINER AND SEAL,
Transmission U/Drive Spring
04431612 1 J, U EGO DGV
1 T EGO DGV
7 SPRING, Drive Lower Case
04377177 1 J, U EGO DGV
1 T EGO DGV
8 PISTON, Underdrive
04431611 1 U, J EGO DGV
1 T EGO DGV
9 SEAL, Piston Outer, 140mm OD
04659871 1 J, U EGO DGV
1 T EGO DGV
10 SEAL, Under Drive
04659391AB 1 J, U EGO DGV
1 T EGO DGV
1" 1 CLUTCH ASSY, (NOT SERVICED)
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Input Clutch Assembly
Figure 021DGV-518

ITEM NSQEER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 SNAP RING
06501702 1 J, U EGO DGV
1 T EGO DGV
2 SNAP RING
06507226AA 1 J, U EGO DGV
1 T EGO DGV
3 RETAINER, Transmission Input
Clutch
04659935AB 1 J, U EGO DGV
1 T EGO DGV
4 SEAL, Reverse Servo Piston
04659056 1 J, U EGO DGV
1 T EGO DGV
5 O RING, Reverse & O/Drive Clutch
Piston, Transmission
06033158 1 J, U EGO DGV
1 T EGO DGV
6 HUB PACKAGE, Input Clutch
05017518AB 1 J, U EGO DGV
1 T EGO DGV
7 O RING, Transmission Clutch
06502269 1 J, U EGO DGV
1 T EGO DGV
8 O RING, Transmission Clutch
06502271 1 J, U EGO DGV
1 T EGO DGV
9 SPRING, Overdrive Piston
04412202 1 J, U EGO DGV
1 T EGO DGV
10 SNAP RING
04412203 1 J, U EGO DGV
1 T EGO DGV
1 SEAL, Input Shaft
04446543 J, U EGO DGV
T EGO DGV
WRANGLER (JK)
SERIES BODY ENGINE TRANSMISSION
P = PREMIUM T = JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans

DGQ = 5-Spd Automatic 545RFE
Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Input Clutch Assembly
Figure 021DGV-518

<< RETURN TO GROUP INDEX

ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
12 INPUT SHAFT PACKAGE,
Transaxle
04626452AB 1 J, U EGO DGV
1 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part

2008 JK




2 | 4 Clutch

Figure 021DGV-519

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 THRUST BEARING
04412209 1 J, U EGO DGV
1 T EGO DGV
2 PLATE, Transmission O/Drive
Clutch
03836237AB 1 J, U EGO DGV [1.70/1.77 mm]
1 T EGO DGV [1.70/1.77 mm]
03836238AB 1 J, U EGO DGV [1.92/1.99 mm]
1 T EGO DGV [1.92/1.99 mm]
03836240AB 1 J, U EGO DGV [2.36/2.43 mm]
1 T EGO DGV [2.36/2.43 mm]
03836241AB 1 J, U EGO DGV [2.58/2.65 mm]
1 T EGO DGV [2.58/2.65 mm]
03836239AB 1 J, U EGO DGV [2.14/2.21 mm]
1 T EGO DGV [2.14/2.21 mm]
04431667AB 1 J, U EGO DGV [2.03/2.10 mm]
1 T EGO DGV [2.03/2.10 mm]
04431665AB 1 J, U EGO DGV [1.59/1.66 mm]
1 T EGO DGV [1.59/1.66 mm]
04431666AB 1 J, U EGO DGV [1.81/1.88 mm]
1 T EGO DGV [1.81/1.88 mm]
04431668AB 1 J, U EGO DGV [2.25/2.32 mm]
1 T EGO DGV [2.25/2.32 mm]
04431669AB 1 J, U EGO DGV [2.47/2.54 mm]
1 T EGO DGV [2.47/2.54 mm]
04446670AB 1 J, U EGO DGV [2.69/2.76 mm]
1 T EGO DGV [2.69/2.76 mm]
04446671AB 1 J, U EGO DGV [2.91/2.98 mm]
1 T EGO DGV [2.91/2.98 mm]
3 HUB AND GEAR, Second And
Fourth Clutch
04659618AB 1 J, U EGO DGV
1 T EGO DGV
4 THRUST WASHER, Second and
Fourth Clutch
04412216AB 1 J, U EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans

DGQ = 5-Spd Automatic 545RFE

Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




2 | 4 Clutch
Figure 021DGV-519

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 T EGO DGV
5 SNAP RING
04505591 1 J, U EGO DGV
1 T EGO DGV
6 RETAINER PACKAGE, 2nd & 4th
Clutch Piston
05102880AA 1 J, U EGO DGV
1 T EGO DGV
7 SPRING, 2nd And 4th Clutch
Piston
04412248 1 J, U EGO DGV
1 T EGO DGV
8 PLATE, Transmission Clutch
Reaction
04659054 4 J, U EGO DGV
4 T EGO DGV
9 DISC, Clutch
04799860AB 4 J, U EGO DGV
4 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Low / Reverse Clutch
Figure 021DGV-520

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 SNAP RING
04799858AA 1 J, U EGO DGV
1 T EGO DGV
2 PLATE PACKAGE, Low/Reverse
Clutch
04897452AA 1 J, U EGO DGV [5.753/6.012]
1 T EGO DGV [5.753/6.012]
04897453AA 1 J, U EGO DGV [6.013/6.272]
04897454AA 1 J, U EGO DGV [6.273/6.532]
1 T EGO DGV [6.273/6.532]
04897455AA 1 J, U EGO DGV [6.533/6.792]
1 T EGO DGV [6.533/6.792]
04897456AA 1 J, U EGO DGV [6.793/7.052]
1 T EGO DGV [6.793/7.052]
1 T EGO DGV [6.013/6.272]
3 SNAP RING
04412395 1 J, U EGO DGV
1 T EGO DGV
4 DISC, Clutch
04567573AB 5 J, U EGO DGV
T EGO DGV
5 PLATE, Transmission Clutch
Reaction
04659055 5 J, U EGO DGV
T EGO DGV
6 SNAP RING
06501853 1 T EGO DGV
1 J, U EGO DGV
7 SPRING, Low/Reverse Clutch
Piston
04800236AA 1 J, U EGO DGV
1 T EGO DGV
8 PISTON, Low and Reverse Clutch
04800261AA 1 J, U EGO DGV
1 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P =PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Low / Reverse Clutch
Figure 021DGV-520

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
9 SCREW AND WASHER, Pan
Head, M5x0.8x11.00
06501819 J, U EGO DGV
T EGO DGV
10 RETAINER PKG, TRANSMISSION
L/R CLUTCH RETAINER
W/GASKET
68800255AA 1 J, U EGO DGV
1 T EGO DGV
1" GASKET PKG, Clutch Retainer
Gasket W ISheet, Larger Hole
Gasket
68003039AA 1 J, U EGO DGV
1 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Front / Rear Planetary
Figure 021DGV-608

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 THRUST BEARING
04412209 1 J, U EGO DGV
1 T EGO DGV
2 PLATE, Transmission O/Drive
Clutch
03836237AB 1 J, U EGO DGV [1.70/1.77]
1 T EGO DGV [1.70/1.77]
03836238AB 1 J, U EGO DGV [1.92/1.99]
1 T EGO DGV [1.92/1.99]
03836239AB 1 J, U EGO DGV [2.14/2.21]
1 T EGO DGV [2.14/2.21]
03836241AB 1 J, U EGO DGV [2.58/2.65]
1 T EGO DGV [2.58/2.65]
04431665AB 1 J, U EGO DGV [1.59/1.66]
1 T EGO DGV [1.59/1.66]
04431666AB 1 J, U EGO DGV [1.81/1.88]
03836240AB 1 J, U EGO DGV [2.36/2.43]
1 EGO DGV [2.36/2.43]
1 T EGO DGV [1.81/1.88]
04431667AB 1 J, U EGO DGV [2.03/2.10]
1 T EGO DGV [2.03/2.10]
04431668AB 1 J, U EGO DGV [2.25/2.32]
1 T EGO DGV [2.25/2.32]
04431669AB 1 J, U EGO DGV [2.47/2.54]
1 T EGO DGV [2.47/2.54]
04446670AB 1 J, U EGO DGV [2.69/2.76]
1 T EGO DGV [2.69/2.76]
04446671AB 1 J, U EGO DGV [2.91/2.98]
1 T EGO DGV [2.91/2.98]
3 HUB AND GEAR, Second And
Fourth Clutch
04659618AB 1 J, U EGO DGV
1 T EGO DGV
4 THRUST WASHER, Second and
Fourth Clutch
04412216AB 1 J, U EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Front / Rear Planetary
Figure 021DGV-608

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 T EGO DGV
5 SNAP RING
06035238 2 J, U EGO DGV
2 T EGO DGV
6 THRUST BEARING
04567262 1 J, U EGO DGV
1 T EGO DGV
7 CARRIER, Planetary Pinion
04567539AB 1 J, U EGO DGV
1 T EGO DGV
8 GEAR, Annulus
04799794 1 J, U EGO DGV
1 T EGO DGV
9 THRUST BEARING, Rear Sun
Gear, Front
04412229AB 1 J, U EGO DGV
1 T EGO DGV
10 GEAR, Sun
04377080 1 J, U EGO DGV
1 T EGO DGV
1 THRUST BEARING
04567262 1 J, U EGO DGV
1 T EGO DGV
12 CARRIER AND BEARING, Planet
Pinion
05101874AA 1 J, U EGO DGV
1 T EGO DGV
13 BEARING CONE, Output Shaft
04412235AB 1 J, U EGO DGV
1 T EGO DGV
14 BEARING CUP, Output Shaft
04412234 1 J, U EGO DGV
1 T EGO DGV
15 SHIM, Carrier Bearing
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P =PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Front / Rear Planetary
Figure 021DGV-608

ITEM NSQEER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
05280020 AR J, U EGO DGV [5.17 - 5.19MM]
AR T EGO DGV [5.17 - 5.19MM]
05280021 AR J, U EGO DGV [5.20 - 5.22MM]
AR T EGO DGV [5.20 - 5.22MM]
05280022 AR J, U EGO DGV [5.23 - 5.25MM]
AR T EGO DGV [5.23 - 5.25MM]
05280023 AR J, U EGO DGV [5.26 - 5.28MM]
AR T EGO DGV [5.26 - 5.28MM]
05280024 AR J, U EGO DGV [5.29 - 5.31MM]
AR T EGO DGV [5.29 - 5.31MM]
05280025 AR J, U EGO DGV [5.32 - 5.34MM]
AR T EGO DGV [5.32 - 5.34MM]
05280026 AR J, U EGO DGV [5.35 - 5.37MM]
AR T EGO DGV [5.35 - 5.37MM]
05280027 AR J, U EGO DGV [5.38 - 5.40MM]
AR T EGO DGV [5.38 - 5.40MM]
05280028 AR J, U EGO DGV [5.41 - 5.43MM]
AR T EGO DGV [5.41 - 5.43MM]
05280029 AR J, U EGO DGV [5.44 - 5.46MM]
AR T EGO DGV [5.44 - 5.46MM]
05280030 AR J, U EGO DGV [5.47 - 5.49MM]
AR T EGO DGV [5.47 - 5.49MM]
05280031 AR J, U EGO DGV [5.50 - 5.52MM]
AR T EGO DGV [5.50 - 5.52MM]
05280032 AR J, U EGO DGV [5.53 - 5.55MM]
AR T EGO DGV [5.53 - 5.55MM]
05280033 AR J, U EGO DGV [5.56 - 5.58MM]
AR T EGO DGV [5.56 - 5.58MM]
05280034 AR J, U EGO DGV [5.59 - 5.61MM]
AR T EGO DGV [5.59 - 5.61MM]
05280035 AR J, U EGO DGV [5.62 - 5.64MM]
AR T EGO DGV [5.62 - 5.64MM]
05280036 AR J, U EGO DGV [5.65 - 5.67MM]
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION

P=PREMIUM T =JEEP - 2WD
S = SPORT J = JEEP - 4WD
M = MEDIUM U = JEEP - 4WD (RHD)

L = LOWLINE

72 = SPORT UTILITY 2-DR

TYPE #2

74 = SPORT UTILITY 4-DR

TYPE #4

EGT = 3.8L V6 SMPI Engine

ENS = 2.8L 4 Cyl TD Next

Generation Engine

DEH = 6-Speed Manual NSG370

Transmission

DGV = 4-Spd. Automatic VLP 42RLE

Trans

DGQ = 5-Spd Automatic 545RFE

Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Front / Rear Planetary
Figure 021DGV-608

ITEM NSQI;ER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION

AR T EGO DGV [5.65 - 5.67TMM]

05280037 AR J, U EGO DGV [5.68 - 5.70MM]

AR T EGO DGV [5.68 - 5.70MM]

05280038 AR J, U EGO DGV [6.71 - 5.73MM]

AR T EGO DGV [5.71 - 5.73MM]

05280039 AR J, U EGO DGV [6.74 - 5.76 MM]

AR T EGO DGV [5.74 - 5.76 MM]

05280040 AR J, U EGO DGV [6.77 - 5.79MM]

AR T EGO DGV [5.77 - 5.79MM]

05280041 AR J, U EGO DGV [5.80 - 5.82MM]

AR T EGO DGV [5.80 - 5.82MM]

05280042 AR J, U EGO DGV [5.83 - 5.85MM]

AR T EGO DGV [5.83 - 5.85MM]

05280043 AR J, U EGO DGV [5.86 - 5.88MM]

AR T EGO DGV [5.86 - 5.88MM]

05280044 AR J, U EGO DGV [5.89 - 5.91MM]

AR T EGO DGV [5.89 - 5.91MM]

05280045 AR J, U EGO DGV [6.92 - 5.94MM]

AR T EGO DGV [5.92 - 5.94MM]

05280046 AR J, U EGO DGV [6.95 - 5.97MM]

AR T EGO DGV [5.95 - 5.97MM]

05280047 AR J, U EGO DGV [5.98 - 6.00MM]

AR T EGO DGV [5.98 - 6.00MM]

05280048 AR J, U EGO DGV [6.01 - 6.03MM]

AR T EGO DGV [6.01 - 6.03MM]

05280049 AR J, U EGO DGV [6.04 - 6.06MM]

AR T EGO DGV [6.04 - 6.06MM]

16 BEARING CUP, Differential
04567022 1 J, U EGO DGV
1 T EGO DGV
17 BEARING CONE, Differential
04567025AB 1 J, U EGO DGV
1 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION

P=PREMIUM T =JEEP - 2WD
S = SPORT J = JEEP - 4WD
M = MEDIUM U = JEEP - 4WD (RHD)

L = LOWLINE

72 = SPORT UTILITY 2-DR

TYPE #2

74 = SPORT UTILITY 4-DR

TYPE #4

EGT = 3.8L V6 SMPI Engine

ENS = 2.8L 4 Cyl TD Next

Generation Engine

DEH = 6-Speed Manual NSG370

Transmission

DGV = 4-Spd. Automatic VLP 42RLE

Trans

DGQ = 5-Spd Automatic 545RFE

Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Front / Rear Planetary
Figure 021DGV-608

ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
18 NUT, Rear Carrier, M36 x 1.50
06502476 1 J, U EGO DGV
1 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part

<< RETURN TO GROUP INDEX

2008 JK




Valve Body And Related Parts

<< RETURN TO GROUP INDEX

Figure 021DGV-805
ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
1 VALVE BODY
05078327AA 1 J, U EGO DGV
1 T EGO DGV
2 LEVER, Manual Valve
04800280AA 1 J, U EGO DGV
1 T EGO DGV
3 SEAL, Manual Valve Lever
04412836 1 J, U EGO DGV
1 T EGO DGV
4 BOLT, Truss Head, M5X0.8X25.00
06508007AA 1 J, U EGO DGV
1 T EGO DGV
5 HARNESS, Variable Line Pressure
05078341AA 1 J, U EGO DGV
1 T EGO DGV
6 SENSOR, Manual Valve Lever
04659677AC 1 J, U EGO DGV
1 T EGO DGV
7 SEAL, Manual Valve Position
Sensor
04659678 1 J, U EGO DGV
1 T EGO DGV
8 SCREW, Pan Head
06508372AA J, U EGO DGV
T EGO DGV
9 RETAINER, Transmission 2nd and
4th Accumulator Piston
04431711 1 J, U EGO DGV
1 T EGO DGV
10 DETENT, Valve Body
04431710 1 J, U EGO DGV
1 T EGO DGV
1 SEAL, Accumulator
04446544 J, U EGO DGV
T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Valve Body And Related Parts

<< RETURN TO GROUP INDEX

Figure 021DGV-805
ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
12 PISTON, Accumulator
04446620 1 J, U EGO DGV
1 T EGO DGV
13 SPRING, Accumulator
04800310AA 2 J, U EGO DGV
T EGO DGV
14 BALL, Check
52118261 4 J, U EGO DGV
4 T EGO DGV
15 SCREW AND WASHER, Pan
Head, M5x.8x25
06500215 24 J, U EGO DGV
24 T EGO DGV
16 SEAL, Clutch Feed
04412291 1 J, U EGO DGV
1 T EGO DGV
17 SOLENOID, Transmission Variable
Force
05078335AA 1 J, U EGO DGV
1 T EGO DGV
18 SENSOR, TRANS PRESSURE
TRANSDUCER
05078336AA 1 J, U EGO DGV
1 T EGO DGV
19 SCREW, Pan Head
06508372AA J, U EGO DGV
T EGO DGV
20 ROD, Parking Sprag
04800283AA 1 J, U EGO DGV
1 T EGO DGV
21 SOLENOID PACKAGE, Valve Body
05143151AA 1 J, U EGO DGV
1 T EGO DGV
22 SCREW AND WASHER, Pan
Head, M5x.8x25
06500215 4 J, U EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Valve Body And Related Parts
Figure 021DGV-805

<< RETURN TO GROUP INDEX

ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
4 T EGO DGV
23 BOLT, Hex Head, M8x30
06100155 17 J, U EGO DGV Valve Body To Case
17 T EGO DGV Valve Body To Case
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part

2008 JK




Accumulator And Related Parts
Figure 021DGV-850

ITEM

PART
NUMBER

QTY

LINE

SERIES

BODY

ENGINE

TRANS

TRIM

DESCRIPTION

For Transmissions With Accumulator Located In The Valve Body Refer to Valve Body lllustration

1

04446620 2 J, U
2 T
2
04446544 4 J, U
T
3
04800310AA 2 J, U
1 T
4
04431617AB 1 J, U
1 T
5
06501695 1 J, U
1 T
WRANGLER (JK)
SERIES LINE
P=PREMIUM T =JEEP - 2WD
S = SPORT J = JEEP - 4WD
M=MEDIUM U = JEEP - 4WD (RHD)
L = LOWLINE

BODY

72 = SPORT UTILITY 2-DR
TYPE #2
74 = SPORT UTILITY 4-DR
TYPE #4

EGO
EGO

EGO
EGO

EGO
EGO

EGO
EGO

EGO
EGO

ENGINE
EGT = 3.8L V6 SMPI Engine

DGV
DGV

DGV
DGV

DGV
DGV

DGV
DGV

DGV
DGV

ENS = 2.8L 4 Cyl TD Next

Generation Engine

PISTON, Accumulator

SEAL, Accumulator

SPRING, Accumulator

COVER, Accumulator

SNAP RING

TRANSMISSION

DEH = 6-Speed Manual NSG370
Transmission

DGV = 4-Spd. Automatic VLP 42RLE
Trans

DGQ = 5-Spd Automatic 545RFE
Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Parking Sprag And Related Parts

<< RETURN TO GROUP INDEX

Figure 021DGV-860
ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
1 BRACKET, Parking Sprag
52852948AA 1 J, U EGO DGV
1 T EGO DGV
2 SPRING, Parking Sprag Return
52852949AA 1 J, U EGO DGV
1 T EGO DGV
3 1 SHAFT, Parking Sprag, (NOT
SERVICED)
4 SHAFT, Parking Sprag
04431999 1 J, U EGO DGV
1 T EGO DGV
5 CUP, Parking Brake Sprag
04446612 1 J, U EGO DGV
1 T EGO DGV
6 ROD, Parking Sprag
04800283AA 1 J, U EGO DGV
1 T EGO DGV
7 LEVER, Manual Valve
04800280AA 1 J, U EGO DGV
1 T EGO DGV
8 BOLT, Truss Head, M5X0.8X25.00
06508007AA 1 J, U EGO DGV
1 T EGO DGV
9 DETENT, Valve Body
04431710 1 J, U EGO DGV
1 T EGO DGV
10 RETAINER, Transmission 2nd and
4th Accumulator Piston
04431711 1 J, U EGO DGV
1 T EGO DGV
1" SCREW, Pan Head
06508372AA 2 J, U EGO DGV
2 T EGO DGV
12 SCREW, Pan Head
06508372AA 2 J, U EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS = 2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Parking Sprag And Related Parts
Figure 021DGV-860

<< RETURN TO GROUP INDEX

ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
T EGO DGV
13 GUIDE, Parking Sprag Rod,
Serviced With The Valve Body,
(NOT SERVICED)
14 SCREW AND WASHER, Hex
Head, M5x.8x12
06503384 1 J, U EGO DGV
1 T EGO DGV
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part

2008 JK




Gearshift Controls
Figure 021DGV-1105

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 SHIFTER SLED BRACKET, Auto
transmission
52060490AD 1 J DGO
1 U DGO
1 T DGO
2 LEVER, Auto floor shift
52060162AB 1 J DGO
1 T DGO
52122263AA 1 U DGO
3 52060062AE 1 J, U DBB SHIFTER, Transfer Case
4 52060451AD 1 J, U HANDLE
5 52060164AD 1 J, T, U DGO CABLE, Shift transmission auto
6 52060163AD 1 J, T, U DGO CABLE, IGNITION KEY
INTERLOCK
52060462AE J, U DGO CABLE, TRANSFER CASE SHIFT
8 06506603AA 5 J, T,U NUT, M6x1.00, Shifter To Sled
06506603AA 5 J, T, U NUT, M6x1.00, Shifter Sled To
Body
10 06104716AA 4 J, T,U NUT, Hex Flange Lock, M8X1.25
1" 06104715AA 2 J, T,U NUT, Hex Flange Lock, M6X1.0
12 68018106AA 1 J, U DGO CLIP, Retainer
13 02424864 1 T PLUG, Body, 1.75 Diameter
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Gearshift Lever, Cable and Bracket
Figure 021DGV-1115

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
52060164AD 1 J, T, U DGO CABLE, Shift transmission auto
2 52060164AD 1 GROMMET, Serviced With Cable,
(NOT SERVICED)
3 55398213AA J, T, U DGV BRACKET, Shift Cable
06104357AA 2 J, T,U DGV SCREW & WASHER,
M8X1.25X25.0
52109622AC 1 J, T,U DGV LEVER, Manual Control
06506676AA 1 J, T,U DGV SCREW AND WASHER, Hex
Head, M8x1.25x40
06508099AA J, T, U DGV NUT, Gearshift Control Lever
06104715AA 2 J, T,U NUT, Hex Flange Lock, M6X1.0
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P = PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans

DGQ = 5-Spd Automatic 545RFE
Transmission

<< RETURN TO GROUP INDEX

AR = use ase required

- = Non illustrrated part

2008 JK




Structural Collar
Figure 021DGV-1210

<< RETURN TO GROUP INDEX

PART
ITEM NUMBER QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
1 04666159AB 1 J, T,U EGO DGV COLLAR, POWER PLANT
BENDING
2 ISOLATOR, Transmission Mount
52059945AB 1 J, U EGO DGO
52059949AB 1 T EGO DGO
3 06101985 7 J, T, U EGT DGO BOLT AND WASHER, Hex Head,
M10x1.50x45.00
06104727AA 3 J, T,U NUT, M10x1.5
BOLT, Hex Flange Head,
M10x1.50x25.00
06104215AA J, U
3 T EGO DGO
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP - 2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part 2008 JK




Mounting Bolts
Figure 021DGV-1215

ITEM PART QTY LINE SERIES BODY ENGINE TRANS TRIM DESCRIPTION
NUMBER
1 06102120AA 1 J, T,U EGO SCREW AND WASHER, Hex Head
2 06501742 6 J, T, U EGO DGO BOLT AND WASHER, Hex Head,
M12X1.75X50.00
3 04861592AA 1 J, T, U EGT DGV SHIELD, Starter
@/
Q
o
WRANGLER (JK)
SERIES LINE BODY ENGINE TRANSMISSION
P=PREMIUM T =JEEP -2WD 72 = SPORT UTILITY 2-DR  EGT = 3.8L V6 SMPI Engine DEH = 6-Speed Manual NSG370
S = SPORT J =JEEP - 4WD TYPE #2 ENS =2.8L 4 Cyl TD Next  Transmission
M = MEDIUM U = JEEP - 4WD (RHD) 74 = SPORT UTILITY 4-DR  Generation Engine DGV = 4-Spd. Automatic VLP 42RLE
L = LOWLINE TYPE #4 Trans
DGQ = 5-Spd Automatic 545RFE
Transmission
AR = use ase required - = Non illustrrated part

<< RETURN TO GROUP INDEX

2008 JK




